CASE—4 [1p&]

(ASTREUE: 4BEALAIX11~X13 / EaE:JL#HE2.9m/s)

P AN M EEYIERE

4000 1

(XL

4000

\

4000 4000 4000 4000

0.10 0.10 0.10 0.10
— = monitor-o1-1 — = monitor-01-2 — == monitor-o1-3 — \ = monitor-o1-4
5 0.08 5 0.08 5 0.08 5 0.08 \
= [ 1. 52 XE—05 ] = [ 1. 66 XE—05 ] = [ 5.11XxE—05 ] 5 [ 4. 52xE—05 ]
S 0.06 S 0.06 S 0.06 S 0.06
B o i i
=~ 0.04 =~ 0.04 =~ 0.04 =~ 0.04
X X X ¢
"< 4( o( o(
Pri 0.02 E 0.02 Prf 0.02 Prf 0.02
0.00 0.00 0.00 0.00
600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600
BER [s] BFRE [s] B [s] BERE [s]
0.10 0.10 0.10 0.10
. = monitor-o1-5 — = monitor-01-6 — = monitor-o1-7 — = monitor-o1-8
5 0.08 5 0.08 5 0.08 5 0.08
= | 5.07xE—03 | = | 7.80xE—04 | = | 7.51xE—04 | = | 9.01xE-04 |
g 0.06 g 0.06 g 0.06 g 0.06
=~ 0.04 =~ 0.04 = 0.04 =~ 0.04
X X X X
a{ '¢< ',< "<
[ré 0.02 E 0.02 Pri 0.02 Pri 0.02
0.00 — 0.00 0.00 SE— 0.00 —
600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600
B [s] BEfE [s] BEf [s] BEfE [s]
0.10 0.10 0.10 0.10
— = monitor-p1-1 — = monitor-p1-2 — = monitor-p1-3 — = monitor-p1-4
5 0.08 5 0.08 5 0.08 5 0.08
= [ 3. 36 XE—07 ] 3 [ O S Sat ] E [ 2. 52xE—06 ] E [ S ]
é 0.06 g 0.06 g 0.06 é 0.06
=~ 0.04 =~ 0.04 =~ 0.04 =~ 0.04
X X X X
"< '¢< "< 9(
X 0.02 X 0.02 N 0.02 K 0.02
[N [N P~ [
0.00 0.00 0.00 0.00
600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600
BFfE [s] BFE [s] BFE [s] B¥fE [s]
0.10 0.10 0.10 0.10
— = monitor-p1-5 —_ = monitor-p1-6 — = mohitor-p1-7 — = monitor-p1-8
5 0.08 5 0.08 5 0.08 5 0.08
= | 2.17xE—05 | = | 3.00xE—05 | = | 4.99XE-05 | = | 1.25xE—03 |
g 0.06 g 0.06 g 0.06 é 0.06
=~ 0.04 =~ 0.04 = 0.04 =~ 0.04
X X ¢ ¢
o< '¢< ',< "<
PPS 0.02 E 0.02 Pri 0.02 PPS 0.02
0.00 0.00 0.00 0.00
600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600
BER [s] BERE [s] BERE [s] BERE [s]
1.00 0.10 0.10 0.10
— = monitor-p1-9 — = monitor-p1-10 — = monitor-p1-11 — = monitor-p1-12
5 0.80 5 0.08 B 0.08 B 0.08
3 [ 1. 78 XE—02 ] 3 [ 1. 75 XE—03 ] 3 [ 2. 07 XE—03 ] 3 [ 9. 0O3XE—03 ]
g 0.60 g 0.06 g 0.06 g 0.06
=~ 0.40 =~ 0.04 =~ 0.04 =~ 0.04 l \
X X X X
9{ '¢< ',< 4(
E 0.20 E 0.02 Prf 0.02 Pri 0.02 ¥
0.00 000 el e 0.00 0.00
600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600
RERE [s] BFRE [s] B [s] BFRE [s]

4000

34

24

©-
o

~l=
oy
Gle

[F% N




CASE—4 [2p%]

(ASTREUE: 4BEALAIX11~X13 / EaE:JL#HE2.9m/s)

0.10 0.10
— 0.08 = monitor-02-1 — 0.08 e monitor-o2-2
[O] ' [} )
3 [ 2. 04 XE—04 ] 3 [ 4. 57 XE—04 ]
S 0.06 S 0.06
iid jiid
% 0.04 % 004
X X
f( 0.02 r<< 0.02
M~ N
0.00 0.00
0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600
BRI [s] BRI [s]
0.10 0.10
— 0.08 = monitor-02-5 — 008 e monitor-o2-6
[] : [} )
3 [ 4. 84 xE—03 ] = [ 1. 82xE—02 ]
g 0.06 g 0.06
il iid
% 0.04 % 0.04
r<< 0.02 r<< 0.02 \
N N /
0.00 — 0.00
0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600
BFfE [s] BFfE [s]
0.10
. = monitor-02-9
5 0.08
= | 4.32xE-03 |
§ 0.06
Iy
il
s 0.04
%
X 0.02
[\
000 m—=""
0 600 1200 1800 2400 3000 3600
BER [s]
0.10 0.10
— 0.08 = monitor-p2-1 — 0.08 = monitor-p2-2
(] ' [} )
3 [ 1. 57XE—04 ] 3 [ 7. 98 XE—04 ]
g 0.06 g 0.06
iid iid
" 0.04 % 004
X X
< 002 < 0.02
[ N
m—
0.00 0.00
0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600
BERE [s] BFR [s]
0.10 1.00
= 0.08 = monitor-p2-5 — 0.80 = monitor-p2-6
(O] ’ [} )
3 [ 6. 70XE—03 ] 3 [ 2. 81 XE—02 ]
é 0.06 g 0.60
1 1y
" 004 % 040
X [\ r<
r<< 0.02 r<< 0.20
0.00 0.00
0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600
BRI [s] B [s]
1.00 0.10
— 080 = monitor-p2-9 — 008 = monitor-p2-10
(] ) [} )
3 [ 7. 84XE—02 ] 3 [ 4. 54 xE—03 ]
S 0.60 S 0.06
il 1
% 040 ™ 004
o \ > \
r<< 0.20 r<< 0.02
0.00 0.00
0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600
i [s] B [s]
3 31

EHEA

T AR MEE [fibre/liter]

T AR MEE [fibre/liter]

TFARZR MRE [fibre/liter] T ARZR MRE [fibre/liter]

T AR MEE [fibre/liter]

P AN M EEYIERE

(XL

\

0.10 0.10
= monitor-02-3 — \ = monitor-02-4
0.08 5 0.08 \
[ 7. 08 XE—04 ] 3 [ 3. 85 XE—03 ]
0.06 S 0.06
Y
K
0.04 =~ 0.04
%
0.02 K 0.02
P\
0.00 S — 0.00
0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600
BERE [s] BERE [s]
0.10 0.10
= monitor-02-7 — = monitor-02-8
0.08 5 0.08
| 3.62xE—02 | = | 2.38XxE—03 |
0.06 S 0.06
///—\\\\\\\ 1
K
0.04 =5 0.04
<
0.02 K 0.02
P\
0.00 0.00 ——
0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600
BFfE [s] B [s]
0.10 0.10
= monitor-p2-3 — = monitor-p2-4
0.08 5 0.08
[ 7. 20XE—04 ] 3 [ 6. 11 XE—03 ]
0.06 S 0.06
1
il
0.04 =~ 0.04
o AN
0.02 K 0.02
P\
/\—
0.00 0.00
0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600
B [s] BEfE [s]
1.00 1.00
= monitor-p2-7 — = monitor-p2-8
0.80 B 0.80
[ 4. 76 XE—02 ] 3 [ 8. 52XE—02 ]
0.60 g 0.60
% \
gl
0.40 =~ 0.40
N 5
0.20 K 0.20
P\
0.00 0.00
0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600
BERE [s] BEfE [s]
0.10 0.10
= monitor-p2-11 — = monitor-p2-12
0.08 5 0.08
[ 3. 67 XE—03 ] 3 [ 9. 36 XE—03 ]
0.06 g 0.06 £\
il
0.04 =~ 0.04
“ %
0.02 K 0.02
P\
0.00 0.00
0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600
BERE [s] BFR [s]
W 15 14 13 ’z 1 8 1 6 ’5 4 ’;
|
_ EV
l p2—9 — |} I 3 I P2—12 |

P2—5

‘ p2—1I0 Q ‘P2—1.1 .




CASE—4 [3p&]

(ASTREUE: 4BEALAIX11~X13 / EaE:JL#HE2.9m/s)

P AN M EEYIERE

(XL

\

0.10 0.10 0.10 0.10 \
= 0.08 = monitor-o3-1 = 0.08 = monitor-03-2 = 0.08 e monitor-03-3 = 0.08 ' e monitor-03-4
S [ 7. 80 XE—06 s 6. 36 XE—05 s [ 4. 25 XxE—05 S [ 4. 33XE—05
S 0.06 S 0.06 S 0.06 S 0.06
1 1 il 1
" 0.04 " 0.04 % 0.04 % 0.04
X X X X
§ 0.02 f< 0.02 f< 0.02 f< 0.02
N N N N
0.00 0.00 0.00 0.00
600 1200 1800 2400 3000 1800 2400 3000 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000
BFRE [s] BRI [s] BERE [s] BRI [s]
0.10 0.10 0.10 0.10
= 0.08 e monitor-o3-5 = 0.08 e monitor-o3-6 = 0.08 e monitor-o3-7 = 0.08 e monitor-o3-8
= [ 1. 01 XxE—04 s 1. 62XE—05 = [ 9. 63 XE—05 = [ 4. 50XxE—03
S 0.06 S 0.06 S 0.06 S 0.06
il 1 i 1
" 0.04 % 0.04 A 0.04 % 0.04
X X X X
< 0.02 < 002 < 002 < 0.02
N M N N
0.00 0.00 0.00 0.00
600 1200 1800 2400 3000 1800 2400 3000 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000
B¥fE [s] B¥fE [s] B¥fE [s] BFE [s]
0.10
. = monitor-03-9
5 008
£ [ 5. 66 XxE—03
S 0.06
1
il
™ 0.04
o
x 002
H
0.00
600 1200 1800 2400 3000
BEfE [s]
0.10 0.10 0.10 0.10
= 0.08 = monitor-p3-1 ~ 0.08 = monitor-p3-2 = 0.08 = monitor-p3-3 = 0.08 = monitor-p3-4
s [ 4. 83xXxE—06 = 4. 34 XE—06 = [ 3. 61XE—06 = [ 6. 75 XE—06
S 0.06 S 0.06 S 0.06 S 0.06
1 1 il 1
004 " 0.04 " 0.04 004
X X X X
< 0.02 < 002 < 002 < 0.02
N N N N
0.00 0.00 0.00 0.00
600 1200 1800 2400 3000 1800 2400 3000 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000
BER [s] BERE [s] BER [s] BERE [s]
0.10 0.10 0.10 0.10
= 0.08 = monitor-p3-5 = 0.08 = monitor-p3-6 = 0.08 = monitor-p3-7 = 0.08 = monitor-p3-8
s [ 6. 02XxE—07 = 7. 49 XE—07 = [ 8. 39 XxE—06 = [ 7. 49 XxE—04
S 0.06 S 0.06 S 0.06 S 0.06
il # Y 1
" 004 004 004 " 004
X X X X
f< 0.02 f< 0.02 f< 0.02 f< 0.02
N N N N
0.00 0.00 0.00 0.00 Imefl———
600 1200 1800 2400 3000 1800 2400 3000 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000
BFfE [s] B [s] B [s] BRI [s]
1.00 1.00 1.00 0.10
= 0.80 = monitor-p3-9 = 0.80 = monitor-p3-10 = 0.80 = monitor-p3-11 = 008 1 = monitor-p3-12
= [ 7. 04 xE—02 s 9. 06 XE—03 = [ 5. 25 XE—03 = [ 8. 48 xE—03
S 0.60 S 060 S 060 S 0.06
i #y X 1
% 040 % 040 % 040 % 0.04 A
X X X X
'¢< \ "< "( "< /\
x 020 x 020 x 020 x 0.02
N N N N
0.00 0.00 0.00 0.00 !
600 1200 1800 2400 3000 1800 2400 3000 0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000
i [s] RERE [s] BERE [s] BRI [s]
P3—3 __]_ P3—4 _1 __ p3-5 P3—6
i —— i e —r— i . —
3 N A { i ]}




CASE—4 [4p%]

(ASTREUE: 4BEALAIX11~X13 / EaE:JL#HE2.9m/s)

0.10

0.08

0.06

0.04

0.02

T ARR MEE [fibrelliter]

0.00

0.10

0.08

0.06

0.04

0.02

T ARR MRE [fibrelliter]

0.00

0.10

0.08

0.06

0.04

0.02

T ARR MRE [fibrelliter]

0.00

0.10

0.08

0.06

0.04

0.02

T ARR MRE [fibrelliter]

0.00

0.10

0.08

0.06

0.04

0.02

T ARR MRE [fibrelliter]

0.00

50.00

40.00

E [fibre/liter]
w
o
o
o

g
i3

&

e

20.00

T ARNR |k
S
o
S

0.00

= monitor-o4-1

[ 5. 64XE—06

3600

3600

0 600 1200 1800 2400 3000
BRI [s]
e monitor-o4-5
[ 6. 49 X E—05 ]
0 600 1200 1800 2400 3000
BRI [s)
e monitor-o4-9

[ 3. 07 xE—02

/T

N

\
0 600 1200 1800 2400 3000 3600
BEfE [s]

= monitor-p4-1
[ 2. 40XE—06 ]
0 600 1200 1800 2400 3000 3600
B [s]
= monitor-p4-5
[ 5. 33XE—07 ]
0 600 1200 1800 2400 3000 3600
BFfE [s]
= monitor-p4-9
[ 1. 68 XE—01 ]
0 600 1200 1800 2400 3000 3600
BEiE [s]
32 31 30 29

T ARZR MEE [fibrefliter]

T AR MEE [fibre/liter]

FANR MRE [fibrelliter] T ARR MRE [fibrelliter]

T AR MEE [fibre/liter]

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

1.00

0.80

0.60

0.40

0.20

0.00

10.00

8.00

6.00

4.00

2.00

0.00

= monitor-o4-2

[ 6. 46 XE—05

600 1200 1800

B [s]

2400 3000

3600

e monitor-o4-6

[ 1. 75 XxE—03

SRS ———

600 1200 1800

B [s]

2400 3000

3600

= monitor-p4-2

[ 2. 37 xXE—06

600 1200 1800

BERE [s]

2400 3000

3600

= monitor-p4-6

[ 1. 66 XE—06

600 1200 1800

BERE [s]

2400 3000

3600

= monitor-p4-10

[ 1. 07 XE—01

600 1200 1800

BERE [s]

2400 3000

1]

| I HE1-2 | HE1-3

3600

0.10

0.08

0.06

0.04

0.02

T ARR MEE [fibrefliter]

0.00

1.00

0.80

0.60

0.40

0.20

T ARX MRE [fibrelliter]

0.00

0.10

0.08

0.06

0.04

0.02

FARR MBE [fibrefliter]

0.00

10.00

8.00

6.00

4.00

2.00

T ARR MRE [fibrelliter]

0.00

10.00

8.00

6.00

4.00

2.00

T ARX MRE [fibrelliter]

0.00

(XL

P AN M EEYIERE

0.10
= monitor-04-3 —
5 0.08
[ 3. OOXE—O05 ] 3
S 0.06
Y
K
=~ 0.04
<
K 0.02
P\
0.00
600 1200 1800 2400 3000 3600
B [s]
0.10
= monitor-o4-7 —
5 0.08
[ 9. 58 XE—02 ] 3
g 0.06
i
K
=5 0.04
<
\ X 0.02
P\
0.00
600 1200 1800 2400 3000 3600
BERE [s]
0.10
= monitor-p4-3 —
5 0.08
[ 2. 21 XE—06 ] 3
g 0.06
#x
il
=~ 0.04
<
K 0.02
P\
0.00
600 1200 1800 2400 3000 3600
BERET [s]
50.00
= monitor-p4-7 —
§40.00
[ 9. 48 XE—03 ] 3
g 30.00
i
gl
~~20.00
<
r<10'00
P\
0.00
600 1200 1800 2400 3000 3600
R [s]
10.00
= monitor-p4-11 .
5 8.00
[ 6. 87 XE—02 ] 3
S 6.00
Bt
4
= 4.00
<
K 2.00
[\
0.00

600 1200

1800
BERE [s]

2400 3000

3600

\

\ = monitor-o4-4

\

[ 4. 11 XE—05 ]

600 1200 1800 2400 3000 3600
BRI [s]
= monitor-o4-8
A
/ | 4.56xE—02 ]\
600 1200 1800 2400 3000 3600
BERE [s]
= monitor-p4-4
[ 7. 32XE—06 ]
600 1200 1800 2400 3000 3600
BERT [s]
= monitor-p4-8
2. 20xXE—01
600 1200 1800 2400 3000 3600
B [S]
= monitor-p4-12
[ 3. 71 XE—02 ]
600 1200 1800 2400 3000 3600
BEfE [s]




